oTi1 - ALPHA Instruction manual

[EXTRUREDN AR |

Exirusicn and CNC ® copyright © all rights reserved (VERSION 3.10 Last updated2023 )



Package Includes

1/2

1400mm x 2 580mm x 2 420mm x 1 200mm x 2
AT @
@qﬁﬂ%ﬂﬂﬁ[@%

—

500mm x 2

Optional Level Feet x 4

Optional Level Feet x 4

Optional Level Feet M8x25mmx8

&

Optional Level Feet x 8

Optional Level Feet x 8

M8 x 16mm x 44

M6 x 16mm x 4

Exirusicn and CNC ® copyright © all rights reserved (VERSION 3.10 Last updated2023)

M8 x 16

N



Package Includes

[
&)
&)

IS
&)
\

Rubber Feet x 4 MS8 x 28 M6 x 8 4080 x 8 4040 x 4
Pedals Components
A D
Mo || | :
@I || °
=1
<u> -
° U @© ° ©@ U o °
1Bl Clgy
380mm x 2 x 1 X2 M8 x 16mm x 24 M8 x 24

{

B
>

M8 x 24

x 4

Exirusicn and CNC ® copyright © all rights reserved (VERSION 3.10 Last updated2023)

W



% GT1 - ALPHA Structure

1400mm x 2 500mm x 2 x 8 M8 x16mm x M8 x 16 4080 x 4
16

install all the end cap after full structure installation, except the bottom end cap of the vertical profiles

Exirusicn and CNC ® copyright © all rights reserved (VERSION 3.10 Last updated2023 )



@ Level Feet Fasteners
' Pack
' Optional Version

x4

x4

M8 x 25mm x 8 M8 x 8 M8 x 8

Exirusicn and CNC ® copyright © all rights reserved (VERSION 3.10 Last updated2023 )



Rubber Feet Fasteners
Pack
Standard Version

x4

M6 x 16mm x 4

e

M6 x4

Exirusicn and CNC ® copyright © all rights reserved (VERSION 3.10 Last updated2023 )




GTI1 - ALPHA Structure

500mm x 2

x4

MS8 x 16mm x M8 x 8
8

é

Exirusicn and CNC ® copyright © all rights reserved (VERSION 3.10 Last updated2023 )

N



GT1 - ALPHA Structure

580mm x 2 200mm x 2 x 8 MS8 x 16mm x M8 x 16 x 4

16

Exirusicn and CNC ® copyright © all rights reserved (VERSION 3.10 Last updated2023 )



®

x 1 x 2 380mm x 2 x4 MS8 x 16mm x MS8 x 20 x 20
20

Exirusicn and CNC ® copyright © all rights reserved (VERSION 3.10 Last updated2023 )



GT1 - ALPHA Pedal Tray

M8 x 16mm x 4

M8 x 4

Exirusicn and CNC ® copyright © all rights reserved (VERSION 3.10 Last updated2023 )



EXTRIUSITN] ANR
O O O

O O O

If you still have some questions regarding assembly of this product or about the manual itself,
please refer to our support department. They can be reached at

support@extrusionandcnc.com

whatsapp: +971506580398

Exirusicn and CNC ® copyright © all rights reserved (VERSION 3.10 Last updated2023 )



	GT1 alpha 001
	Sheets and Views
	Layout2


	GT1 alpha 002
	Sheets and Views
	Layout2


	GT1 alpha 003
	Sheets and Views
	Layout2


	GT1 alpha 004
	Sheets and Views
	Layout1


	GT1 alpha 005
	Sheets and Views
	Layout1


	GT1 alpha 006
	Sheets and Views
	Layout1


	GT1 alpha 007
	Sheets and Views
	Layout5


	GT1 alpha 008
	Sheets and Views
	Layout5


	GT1 alpha 009
	Sheets and Views
	Layout3


	GT1 alpha 010
	Sheets and Views
	Layout3


	GT1 alpha 011
	Sheets and Views
	Layout3



